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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Distinguish between private goods and public goods. 

Discuss the theory of public goods. 

futh oLrqvksa vkSj lkoZtfud oLrqvksa esa vUrj crkb;sA 

lkoZtfud oLrqvksa ds fl)kUr dh foospuk dhft,A 

2. Examine critically the Wagner‟s law of public 

expenditure. 

oSxuj ds lkoZtfud O;; ds fl)kUr dh vkykspukRed 

O;k[;k dhft,A 

3. What is the difference between incidence and effects of 

taxation ? How is it measured and how is it shifted ? 

dj&Hkkj ,oa dj&izHkko esa D;k vUrj gS \ dj&Hkkj dSls ekik 

tkrk gS rFkk bldk foorZu dSls gksrk gS \ 

4. How far is the division of revenue of resources 

between the centre and states in the Indian Constitution 

in accordance with the principles of federal finance ? 

Discuss fully. 

Hkkjrh; lafo/kku esa fd;k x;k dsUnz vkSj jkT;ksa ds chp 

lalk/kuksa dk foHkktu dgk¡ rd la?kh; foŸk ds fl)kUrksa ds 

vuq:i gS \ iw.kZr;k O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are the characteristics of a good Tax System ? 

,d vPNh dj iz.kkyh dh fo’ks‛krk,¡ D;k gSa \ 

2. Discuss the various principles of Taxation. 

djkjksi.k ds fofHkUu fl)kUrksa dh O;k[;k dhft,A 

3. Write a short note on „Public Enterprise‟ or „Control of 

Public Utilities by Government‟. 

^ljdkjh m|e* ;k ^jkT; }kjk yksdksi;ksxh lsokvksa dk 

fu;U=.k* ij ,d laf{kIr fVIi.kh fyf[k,A 

4. Describe the classification of public debt. 

lkoZtfud _.k dk oxhZdj.k Li‛V dhft,A 

5. Write a note on major recommendations of Thirteenth 

Finance Commission. 

rsjgosa foŸk vk;ksx dh izeq[k flQkfj’kksa ij ,d ys[k 

fyf[k,A 

6. What do you understand by Public Debt Management ? 

yksd _.k ds izcU/k ls vki D;k le>rs gSa \ 

7. How far is the present tax structure in India geared to 

the needs of rapid economic development ? 

Hkkjr dh orZeku dj O;oLFkk ns’k esa ‘kh?kzrk ls gks jgs 

vkfFkZd fodkl ds dgk¡ rd vuqdwy gS \ 
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8. What are the sources of income of local bodies in India ? 

Give suggestions to increase them. 

Hkkjr esa LFkkuh; fudk; dh vk; izkIr djus ds D;k&D;k 

lk/ku gaS \ muesa o`f) djus gsrq lq>ko nhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj dk p;u dhft, % 

1. Which tax is imposed solely by the Government of 

India ? 

(a) Sales Tax 

(b) Excise Tax 

(c) Custom Tax 

(d) Octroi Tax 

dkSu&lk dj dsoy Hkkjr ljdkj }kjk yxk;k tkrk gS \ 

¼v½ fcØh dj 

¼c½ mRikn dj 

¼l½ lhek ‘kqYd 

¼n½ pqaxh dj 
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2. A tax is said to be buoyant if tax revenue is 

proportionally : 

(a) More responsive to changes in output 

(b) Less responsive to changes in output 

(c) Equally responsive to changes in tax base 

(d) Less responsive to changes in tax base 

dj dks mRIykod dgk tkrk gS ;fn dj jktLo vuqikrr% 

gks % 

¼v½ mRiknu esa ifjorZuksa ds izfr vf/kd laosnu’khy 

¼c½ mRiknu esa ifjorZuksa ds izfr de laosnu’khy 

¼l½ dj vk/kkj esa ifjorZuksa ds izfr leku :i ls 

laosnu’khy 

¼n½ dj vk/kkj esa ifjorZuksa ds izfr de laosnu’khy 

3. Who among of the following is associated with the 

theory of optimal taxation ? 

(a) B. S. Minhas 

(b) H. Dalton 

(c) G. Mankiw 

(d) U. K. Hicks 

fuEufyf[kr esa dkSu&lk vuqdwyre djkjksi.k ds fl)kUr ls 

lEcfU/kr gS \ 

¼v½ ch- ,l- feUgkl 

¼c½ ,p- MkYVu 

¼l½ th- eSuD;w 

¼n½ ;w- ds- fgDl 
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4. Concepts of concentration and displacement effect in 

public expenditure are attributed to : 

(a) Allen T. Peacock and Jack Wiseman 

(b) A. R. Prest and I. M. D. Little 

(c) A. C. Pigou and J. K. Mehta 

(d) Kenneth Arrow and Paul A. Samuelson 

lkoZtfud O;; esa ladsUnz.k vkSj foLFkkiu izHkko dh 

vo/kkj.kk dk Js; fdls fn;k tkrk gS \ 

¼v½ ,yu Vh- ihdkWd vkSj tSd okbteSu 

¼c½ ,- vkj- izsLV vkSj vkbZ- ,e- Mh- fyêy 

¼l½ ,- lh- ihxw vkSj ts- ds- esgrk 

¼n½ dsusFk ,sjks vkSj ikWy ,- lSE;qYlu 

5. Primary deficit is measured by : 

(a) Fiscal deficit – Interest payments 

(b) Budget deficit – Interest payments 

(c) Budget deficit + Total borrowings 

(d) Total revenue expenditure – Total revenue 

receipts 

izkFkfed ?kkVs dk ekiu fd;k tkrk gS % 

¼v½ jktdks‛kh; ?kkVk & C;kt Hkqxrku }kjk 

¼c½ ctV ?kkVk & C;kt Hkqxrku }kjk 

¼l½ ctV ?kkVk $ dqy m/kkj jkf’k }kjk 

¼n½ dqy jktLo O;; & dqy jktLo izkfIr }kjk 

6. The case for progressive tax rates on : 

(a) Benefits received 
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(b) Cost of service 

(c) Ability to pay 

(d) None of the above 

izxfr’khy dj njksa dk ekeyk fuEufyf[kr esa ls fdl ij 

fuHkZj djrk gS \ 

¼v½ izkIr ykHk 

¼c½ lsok ykxr 

¼l½ Hkqxrku ;ksX;rk 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. GST concerns : 

(a) Credit 

(b) Tax payment 

(c) Bank deposit 

(d) Insurance 

th- ,l- Vh- lEcfU/kr gS % 

¼v½ _.k 

¼c½ dj Hkqxrku 

¼l½ cSad tek 

¼n½ chek 

8. Which of the canons of taxations have been 

propounded by Adam Smith ? 

(a) Economy, Elasticity, Simplicity and Sufficiency 

(b) Equity, Certainty, Convenience and Economy 

(c) Certainty, Elasticity, Economy and Convenience 

(d) Economy, Co-ordination, Convenience and 

Expediency 
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,Me fLeFk }kjk djk/kku ds fdu fu;eksa dk izfriknu fd;k 

x;k gS \ 

¼v½ ferO;;rk] yksp’khyrk] ljyrk rFkk i;kZIrrk 

¼c½ lerk] fuf’prrk] lqfo/kk rFkk ferO;;rk 

¼l½ fuf’prrk] yksp’khyrk] ferO;;rk rFkk lqfo/kk 

¼n½ ferO;;rk] leUo;] lqfo/kk rFkk vko’;drk 

9. Lump sum grant means : 

(a) A grant whose amount is sufficient to meet the 

expenditure. 

(b) A matching and conditional grant. 

(c) Grant given for a special purpose and it can be 

utilised only for that purpose. 

(d) A grant whose amount is not dependent on any 

matching effort of the recipient. 

,deq’r vuqnku dk rkRi;Z gS % 

¼v½ ,slk vuqnku ftldh jkf’k O;; dks iwjk djus ds fy, 

i;kZIr gSA 

¼c½ ,d rqY; rFkk l’krZ vuqnkuA 

¼l½ ,d fo’ks‛k mís’; gsrq iznŸk vuqnku ftls ek= mlh 

mís’; ds fy, O;; fd;k tk ldrk gSA 

¼n½ ,slk vuqnku ftldh jkf’k izkIrdŸkkZvkas ds rqY; iz;kl 

ij fuHkZj ugha gksA 
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10. Which one is the largest item of expenditure of the 

central government ? 

(a) Major subsidies 

(b) Interest payment 

(c) Capital expenditure 

(d) Defence expenditure 

dkSu&lk en dsUnz ljdkj ds O;; dk lcls cM+k en gS \ 

¼v½ izeq[k jktlgk;rk 

¼c½ C;kt vnk;xh 

¼l½ iw¡thxr O;; 

¼n½ j{kk O;; 
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